Virginia High School League District Competition, 2000-01 season

Match #18


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
Nearly 250,000 gallons of crude oil from the Ecuadorian tanker Jessica are threatening the unique ecosystem on what islands that are best known for a visit by Charles Darwin to see their finches?

ANSWER: GALAPAGOS
2.
What is the name given to polymers that include fats and steroids, and are all insoluble in water?

ANSWER: LIPIDS
3.
What 1925 novel by Sinclair Lewis is named for its main character, a Midwest physician who goes to an epidemic-plagued island and then leaves his second wife to set up his own laboratory?

ANSWER: ARROWSMITH
4.
THIS IS A COMPUTATION QUESTION. A square field needs ten rows plowed into it. Assuming the perimeter of the field is 100 feet, how many feet of plowing must be done to finish plowing the field?

ANSWER: 250 feet (each side of the field is 25 feet. Therefore each row will also be 25 feet, 25 * 10 = 250)

First period (continued)

5.
He was the viceroy in Australia when his men mutinied against him. This was nothing new to what man, who had been mutinied against while captain of the Bounty?

ANSWER: William BLIGH
6.
What five-letter word taken from an Old French word meaning mixture is used to describe a hand-to-hand conflict?

ANSWER: MELEE
7.
THIS IS A COMPUTATION QUESTION. A burglar has a 10% chance of getting arrested with each burglary he makes. What are his chances of evading capture for two straight burglaries?

ANSWER: 81% (90% chance of avoiding the first, then 90% of the 90% is 81%)

8.
On March 27, 1814, Andrew Jackson attacked and destroyed a Creek and Cherokee army at what battle?

ANSWER: HORSESHOE BEND
9.
Monday, January 22, was the 28th anniversary of what landmark Supreme Court decision which legalized first and second trimester abortions in all 50 states?

ANSWER: ROE V. WADE
10.
What type of cells are assigned to destroy the body’s infected cells, but did not have a movie directed by Oliver Stone about a mass murdering couple named for them?

ANSWER: NATURAL KILLER cells

11.
What adjective is used to used to describe mortgage or loan payments that increase over the life of the loan?

ANSWER: BUBBLE payments

First period (continued)

12.
The music for the movie The Sting was an adaptation of this composer’s work, done 56 years after his death. He was born in Texas, and played in honky-tonks for most of his life. He eventually died while devoting all his energy to the opera Treemonisha. Who is this composer better known for his ‘rags’, especially the Maple Leaf Rag?

ANSWER: Scott JOPLIN
13.
Two carbon atoms, three hydrogen atoms and two oxygen atoms make up what polyatomic ion with a charge of negative one?

ANSWER: ACETATE

14.
This London theater was destroyed by fire in 1613 and pulled down in 1644. What is this theater best known for performing Shakespeare’s plays?

ANSWER: GLOBE Theatre

15.
THIS IS A COMPUTATION QUESTION. If the cosine of an angle is ¾, and the tangent of the angle is the square root of seven over three, what is the sine of the angle?

ANSWER: THE SQUARE ROOT OF SEVEN OVER FOUR (Remember the tangent is the sine over the cosine. So x divided by ¾ equals square root of seven over three. Mutiply both sides by ¾ to get x equals the square root of seven divided by four.)

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.

1A.
THIS IS A COMPUTATION QUESTION. What are the zeroes of the first derivative of the function x cubed plus three-halves x squared minus 18 x plus 5?

ANSWER: -1 and +2 (the derivative is 3x squared plus 3x minus 18, solve for zeroes)

1B.
What name is given to a particle, cell or other foreign substance in the body that is attacked by the immune system?

ANSWER: ANTIGEN
2A.
What name is given to the Japanese Parliament?

ANSWER: DIET
2B.
Who was King Arthur’s wife?

ANSWER: GUINEVERE
3A.
Who is the mortal woman with whom Cupid fell in love and made his immortal wife?

ANSWER: PSYCHE
3B.
THIS IS A COMPUTATION QUESTION. A line with slope 4 passes through the point (3, -2). What is its y-intercept?

ANSWER: NEGATIVE 14 (the line is y = 4x + b, plus in 3 and –2 getting –2 = 4(3) + b, yielding –14 = b)

4A.
What element is the most corrosion resistant of all metals?

ANSWER: IRIDIUM
4B.
The Ochs family is associated with the ownership of what famous newspaper?

ANSWER: NEW YORK TIMES
Second period (continued)

5A.
‘The mirror crack’d from side to side’ is a line from what poem by Alfred Lord Tennyson?

ANSWER: THE LADY OF SHALOTT
5B.
What Chinese philosopher is credited with writing ‘The Art Of War?’

ANSWER: SUN TZU
6A.
THIS IS A COMPUTATION QUESTION. A sphere is 6 inches in radius. What is its volume in cubic inches?

ANSWER: 261 1/3 PI cubic inches (6 cubed is 196, so 196 * 4 = 784 and 784/3 = 261 1/3)

6B.
What is the name of the layers of soil that are permanently frozen in sub-arctic climates?

ANSWER: PERMAFROST
7A.
Mansa Musa was the most famous king of what African empire?

ANSWER: MALI
7B.
Gooper, Brick and their wives return home for their father, Big Daddy’s 65th birthday. The occurrences of that party make up what Tennessee Williams play?

ANSWER: CAT ON A HOT TIN ROOF
8A.
Young Woman Powdering Herself and Woman Seated by an Easel are two works by what 19th century French artist?

ANSWER: George SEURAT
8B.
THIS IS A COMPUTATION QUESTION. A shareholder bought 100 shares of stock at $5,000. He then sold those 100 shares at $150. How much money has a single share of stock lost?

ANSWER: $48.50 ($5,000 - $150 = $4,850 / 100 = $48.50)

Second period (continued)

9A.
What property measures the degree of randomness evolving from all physical processes by which their energies are degraded into heat?

ANSWER: ENTROPY
9B.
John Brown, in 1859, led a raid against the federal arsenal in what town now in West Virginia?

ANSWER: HARPER’S FERRY
10A.
Who was the captain of the Pequod in Moby-Dick?

ANSWER: AHAB

10B.
What Renaissance artist is credited with such un-artsy sounding classics as Muscles of the Neck and Shoulders and Distance From the Sun To the Earth and the Size of the Moon?

ANSWER: LEONARDO DA VINCI
Third period: 15 toss-ups

1.
What is the name of a machine that measures the severity of an earthquake?

ANSWER: SEISMOGRAPH
2.
What is the second person plural reflexive pronoun in English?

ANSWER: YOURSELVES
3.
He was born in 1807 and died in 1742. Music professor Peter Schickele has discovered dozens of his works and has released them upon the world. Who is this composer of such works as the 1712 Overture, The Safe Sextet, The Magic Bassoon, Fanfare for Fred and his masterpiece, Oedipus Tex?

ANSWER: P.D.Q. BACH
4.
What Roman emperor was believed to be retarded due to his stuttering, but proved quite capable, ruling between 41 and 54 AD until his wife Agrippina murdered him?

ANSWER: CLAUDIUS
5.
THIS IS A COMPUTATION QUESTION. A band has 500,000 hard-core fans that bought their first three albums. 60% of those fans denounce the band as sell-out after their fourth album, but the album sold 3,000,000 copies. How many ‘new’ fans came on board for the fourth album?

ANSWER: 2,700,000 (500,000 – 300,000 of them sold out, so 2,700,000 new fans)

6.
During the purge of Jehu, she was cast out of her window, and dogs devoured her body. Who was this non-Israelite wife of King Ahab that interfered with the worship of the Lord, defying the great prophets Elijah and Elisha, who has come to represent the wicked woman?

ANSWER: JEZEBEL
Third period (continued)

7.
Who woman won the Nobel Peace Prize in 1931 for her work in crusading against war and for her work with the poor, especially founding Hull House?

ANSWER: Jane ADDAMS
8.
THIS IS A COMPUTATION QUESTION. A factory makes 1,000 cars at a cost of $12,000 each. They hope to get a 40% profit from selling it to a wholesaler. How much profit will the factory make from selling the 1,000 cars?

ANSWER: $4,800,000 ($4,800 * $1,000 = $4,800,000)

9.
What name is given to the alternate forms of a gene that can form, represented by such connotations as capital T and small t in making a Punnett square?

ANSWER: ALLELE
10.
The poem Frost At Midnight was written by what partner of Wordsworth and writer of The Rime of the Ancient Mariner?

ANSWER: Samuel Taylor COLERIDGE
11.
When referring to high-speed Internet connections, what does the abbreviation DSL stand for?

ANSWER: DIGITAL SUBSCRIBER LINE (DSL)

12.
What is the name given to the radius such that an object smaller than this radius must undergo gravitational collapse and become a black hole?

ANSWER: SCHWARZCHILD radius
13.
A man is invited to visit his childhood friend. The friend gradually reveals that his twin sister, Madeline, has been placed in the family vault and is not quite dead. She then appears in her funeral shroud, prompting the man to flee the house as it splits and sinks into a lake. This is a synopsis of what short story by Edgar Allan Poe?

ANSWER: The FALL OF THE HOUSE OF USHER
Third period (continued)

14.
At age 16 she made the semifinals of Wimbledon. With long blonde hair and equally long legs, this Russian tennis player seemed assured of stardom. However, she had not won a singles tournament through the end of 2000. Who is this Russian tennis player that nonetheless is among the leaders in endorsement contracts on the women’s tennis tour?

ANSWER: Anna KOURNIKOVA
15.
The Bosporus and the Dardanelles connect the Black Sea and what other sea which lies between Greece and Turkey?

ANSWER: AEGEAN Sea

Spares
What name is given to the totality of an organism’s chemical processes, and is used in the vernacular to represent the amount of calories a person burns while at rest?

ANSWER: METABOLISM
In this CBS show, lawyers and judges who serve in the Navy undertake two or three cases. What is this show named for the Navy office in which all the characters serve?

ANSWER: JAG (Judge-Advocate General)

What number is 120% of 1,200?

ANSWER: 1,440 (20% of 1,200 is 240, 240 + 1,200 = 1,440)

What was ended by the Treaty of Portsmouth in 1905?

ANSWER: RUSSO-JAPANESE War

What six-letter word which means ‘replacement’ in German is used to describe a substitute product which is usually inferior to the original?


ANSWER: ERSATZ
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